Aversan Pergola

LOTUS TEMIZLENEBILIR SISTEM PROFILLERI
LOTUS CLEANSABLE SYSTEM PROFILES



LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

e 22mm Cift Cam ve 8mm Tek Cam Kullanabilme e Kanal Gizleme Kapaklari

e Kapakli Motor Kutusu ile Kolay Montaj e Kertmesiz Bagli ile Kolay imalat
e Kayish ve Zincirli Kullanima Uygun ® Aliminyum Motor Borusu

e Ayrilabilir Dikme Ayaklariyla Hizli Kanat Montaji e Givenli Kapak Tasarimi

b



-







E 18.23

i
Gl
]

L Profile No kg/m

3070 |0,6%0

4 o 18 -
_r=n P
U)
{
AT |
8 LA
3071 [osto] 3072 |17

i = ( = 18

L
| 3069 |1.200

18 e
22
[ J
] £ ’ﬂ
= l[ | _11 Profile No kg/m
¥ il up
0
3067 |0.800 3065 |0,370
"2)‘_@ N
= 18
ap
Uy
e
£ 3073 |0540
i
g
2
g\
137.4 s

Profile No kg/m
37272 ‘um 5312 |1,100




LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

Motor Kutusu Profili
Engine Box Profile

Product Code:37272

dght kg/m: 2,700
(16 4 x 2mm)

Motor Kutusu Kapak Profili
Engine Box Cover Profile

Product Code:37271

ghtk /m: 0,847
(145 x 12,6 x 1,8mm)

Ray Profili
Rail Profile

Product Code:3074

We4ght kg/m: 1,770
(114,65 x 33,5 x 1,8mm)

Dikme On Kapak Profili
Sewing Front Cover Profile

Product Code:3072

Weight kg/m: 1,170
(78,2 x 40,41 x 1,76mm)

Alt Baza Profili
Sub-Base Profile

Product Code:3066

‘?htk g/m: 1,400
(114,65 x 21 76x18mm)




LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

Ray i¢ Tirnak Profili
Ray Inner Nail Profile

Product Code:3073

Weight kg/m: 0,540
(78,2 x18,23 x 1,8mm)

Ray Dig Tirnak Profili
Ray External Nail Profile

Product Code:3071

Weight kg/m: 0,510
(78,2 x 18,23x 1,8mm)

TlUp Motor Profili
Tube Motor Profile

Product Code:5312

Weight kg/m: 1,100
(75,5 x 1,5mm)

22mm Alt Dikme Profili
22mm Bottom Stitch Profile

Product Code:3069

Weight kg/m: 1,200
(82,4 x 27 x 1,7mm)




LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

22mm Trabzan Profili
22mm Handrail Profile

Product Code:3067

Weight kg/m: 0,800
(38,7 x 27 x 1,7mm)

Trabzan Kapak Profili
Handrail Profile

Product Code:3070

Weight kg/m: 0,690
(107 x 5,03 x 2mm)

22mm Dikme ve Alt Profili
22mm Sewing and Bottom Profile

Product Code:3064

Weight kg/m: 1,030
(57,5 x27 x 1,7mm)

22mm Cekici Profili
22mm Attractive Profile

Product Code:3068

Weight kg/m: 0,860
(38,7 x 35,25x 1,5mm)

8mm Adaptér
8mm Adapter

Product Code:3065

Weight kglm: 0,370
(18,25 x 22,2 x 1,4mm)




LOTUS TEMIZLENEBILIR SISTEM PROFILLERI/LOTUS CLEANSABLE SYSTEM PROFILES

FR FRFo—

Cam Kése Takozu Sag Sol Tirnakli Kése Takozu SaE Sol Sabit Kdse Takozu Ust Sag Sol Mafsal Plastigi Sag Sol
Glass Corner Wedge Right Left | Nailed Corner Wedge Right Left || Fixed Comer Wedge Top Right Left [ Joint Plastic Right Left

Code: LTS-1 Code: LTS-1 Code: LTS-1 Product Code:LTS-1
Quantity: 6 piece Quantity: 18 piece Quantity: 6 piece Quantity: 6 piece
Sabit Kése Takozu Alt Plastik Tapa Dikme Ray Tirnak Plastigi JJ Alt Baza Profili Pargasi [ Zincir Aktarim Plastigi
Glass Corner Wedge Bot J| Plastic Plug Sewing Rail Nail Plastic Sub-Base And Side Profile W Chain Transfer Plastic
Product Code:LTS-1 Code:LTS-1 Code:LTS-1 Product Code: LTS-1 Product Code:LTS-1
Quantity: 6 piece Quantity: 60 piece ¥ quantity: 6 piece Quantity: 6 piece Quantity: 6 Set
Tiip Motor Ka agl Zincir Aktarim Plastigi j Boru Basi Rulman Yatag Zincir Aski Aparati
Tube Eng:ne over Chain Transfer Plastic Pipe Head Bearing fastening Chain Hanger
Apparatus

Product Code:LTS-1 Product Code:LTS-1 Product Code:LTS-1 Code: LTS-1

Code: LTS-1
Quantity: 6 piece Quantity: 6 Set Quantity: 3 piece Quantity: 6 piece

Quantity: 6 piece

3,9x19 YHB 3,9x16 YSB Mercimek g Motor Kutusu Kizagi §6001 Rulman Rulman Kelepgesi | zincirli
Havga Basg Vida Bas Akilli Vida Motor Box Sled 6001 Bearing Bearing Clamp Chain

3.9x19 YHB Head 3.9x16 YSB Lentils

Screw on The Counter JHiead Smart Screw Code:LTS-1 Code: LTS-1 Code: LTS-1 Code: GYT-19

Product Code: LTS-1 [jMercimek Bas Vida Quantity: 6 piece  jQuantity: 6 piece BQuantity: 6 piece B Quantity: 15m
Quantity: 24 piece Code: LTS-1
Quantity:150 piece

= — i= (o)

M8x12 Havsa Bas M8X90 Yarim Dig M5x20 Imbus Civata [ M4 Fiberli Somun Lotus Disli

Civata imbus Civata M5x20 Imbus Bolt M4 Fiber Nut Lotus Gear

M8x 12 Head of Bark ME8X90 Half Tooth M4x30 imbus Civata

Boit imbus Bolt M4x30 Imbus Bolt Product Code: LTS-1 J Product Code: LTS-6
Product Code: LTS-1 EProduct Code: LTS-1 BProduct Code: LTS-1 B Quantity: 24 piece Quantity: 6 piece Gear
Quantity: 12 piece Quantity: 6 piece Quantity: 12 piece

Quantity: 24 piece .



LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

? Flen —

Cam Kose Takozu Sag Sol Tirnakh Kdge Takozu Sag Sol ] Sabit Kose Takozu Ust Sag Sol Mafsal Plastigi Sag§ Sol
Glass Corner Wedge Right Left @Nailed Corner Wedge Right Left § Fixed Corner Wedge Top Right Left [l Joint Plastic Right Left

Code: LTS-7 Code: LTS-7 Code: LTS-7 Product Code:LTS-7
Quantity: 6 piece Quantity: 18 piece Quantity: 6 piece Quantity: 6 piece

Sabit Kége Takozu Alt  [| Plastik Tapa Dikme Ray Tirnak Plastigi [] Alt Baza Profili Parcasi [} Zincir Aktarim Plastigi
Glass Corner Wedge Bot || Plastic Plug ' - ' Sub-Base And Side Profile [ Chain Transfer Plastic
Product Code:LTS-7 Code:LTS-7 g‘f‘,ﬁ';”: #gﬁ,ﬂa” sl Product Code: LTS-7 Product Code:LTS-7
Quanl"y: 5 piece Quantlty 60 plece Quantily: 6 plece Quantit)": 6 pieca Quantlty 6 Set

Tip Motor Ka agl Motor Kutusu Kizagi JjBoru Bas: 6001 Rulman Rulman Yatagi Rulman Kelepgesi
Tube Engine over Motor Box Sled Pipe Head 6001 Bearing Bearing fastening W Bearing Clamp
Product Code:LTS-7 § Code:LTS-7 Code: Lts-7 Code: LTS-7 Code: LTS-7 Code: LTS-7

Quantity: 6 piece Quantity: 6 piece Quantity: 3 piece §Quantity: 6 piece ® Quantity: 6 piece BQuantity: 6 piece

s e ]

3,9x19 YHB 3,9x16 YSB Mercimek J§ Triger Kasnag Kasnak Kayi

Havsa Bas Vida Bas Akilli Vida ngmg ,auh‘eyg Sikistirma T3ac

3.9x19 YHB Head Fon SR o8 Sele Pulley Belt

Screw on The Counter [ 4 gx45 YHB Code: GYT-15 Compression T Sheet
Mercimek Bas Vid

Product Code: LTS-7 N o ex 283 V1% H o antity: 6 piece ¥ Code: GYT-22

Quantity: 24 piece Code: LTS-1 Quantity: 6 piece

Quantity: 150 piece

= — i= @

Kayigh Aski Aparati M8x12 Havga Bas M8X90 Yarim Dig M5x20 imbus Civata [JM4 Fiberli Somun
Strap Strap Apparatus § Civata imbus Civata M5x20 Imbus Bolt M4 Fiber Nut

M8x 12 Head of Bark ‘M8X90 Half Tooth M4x30 Imbus Civata
Product Code: LTS-7 || Boit imbus Bolt M4x30 Imbus Bolt Product Code: LTS-7
Quantity: 6 piece Product Code: LTS-7 M Product Code: LTS-7 N Product Code: LTS-7 M Quantity: 24 piece

Quantity: 12 piece Quantity: 6 piece Quantity: 12 piece

. ' QuantityE 24 piece



LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES

Zincirli Aksesuar Seti Kayigh Aksesuar Seti Hareketli Mekanizma Seti
ghained Accessory Strap Accessory Set Spinach and its equivalent
et
Product Code: LTS-7 Lotus Kol Lotus Arm
Product Code: LTS-1 Quantity: 1
Quantity: 1 Product Code:LTS-8

Quantity: 2 piece

T3-F20 Kayis Kenetli Profil Contasi Motor Kutusu Gontasi
T3-F20 Be Clamped Profile Bolt Engine Box Seal
Product Code: GYT-21 § Product Code: GYT-27 Product Code: GYT-28
- 1 Top: 300 metre 1 Top: 75 metre
1k o Mslrs 1 Roll: 300 meter 1 Roll: 75 meter

Somfy Motor Aparati Evrensel Pergola Aparati 67x800 Kil Fitil
Somfy Engine UniversalSorily Apparatus 67x800 Bristle Wick
Apparatus Product Code: PRG-26 Product Code: GYT-29
Product Code: PRG-18 Quantity: 1 1 Ton: 250

- : op: metre
Quantity: 1 1 Roll: 250 meter






LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES







LOTUS TEMIZLENEBILIR SISTEM PROFILLERi/LOTUS CLEANSABLE SYSTEM PROFILES




Aversan Pergola

T
a
J
]

Ofis: Mollahiisrev Mahallesi Cemalyener Tosyali Caddesi No:17 Fatih/istanbul
Fabrika: Glvercintepe Mahallesi Kadife Sokak No:6 Basaksehir/istanbul
lletisim: 0 (212) 687 04 05

Cep: 0 (531) 622 91 33



